g Please check the examination details below before entering your candidate information )
(Candidate surname Other names )
7
Centre Number Candidate Number
Pearson Edexcel
International GCSE
~ )
Thursday 9 May 2019 )
N
Afternoon (Time: 1 hour 30 minutes) Paper Reference 4PA1/01
Pakistan Studies
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Instructions
® Use black ink or ball-point pen.
® Fill in the boxes at the top of this page with your name,
centre number and candidate number.
® In Section A, answer mandatory Question 1.
® |n Section B, answer one question from Questions 2, 3 and 4.
® |n Section C, answer one question from Questions 5 and 6.
® Answer the questions in the spaces provided
— there may be more space than you need.
Information
® The total mark for this paper is 75.
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.
Advice
® Read each question carefully before you start to answer it.
® Check your answers if you have time at the end.
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SECTIONA
You must answer the question in this section.
Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box < and then mark your new answer with a cross [X.

You should aim to spend no more than 30 minutes on this section.
1 The emergence of Pakistan (1927-1971)

(a) Identify the British politician sent to India in 1942 to win support for the British
war effort.

] | A Cripps

L1 | B Linlithgow
[J | € Mountbatten
L1 | D Wavell

(b) State two princely states where partition brought problems in 1947.
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(c) Explain why Iskander Mirza introduced the One Unit Policy in October 1955.
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(d) ‘Reforming agriculture was Ayub Khan'’s greatest success.

Discuss how far you agree with this statement.
You may use the following in your answer: ?::3;\\
S .;\
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« the 1962 Constitution e
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(Total for Question 1 = 25 marks)
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SECTIONB
Answer ONE question from this section.
Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box $¢ and then mark your new answer with a cross [X.

If you answer Question 2 put a cross in the box [ .
You should aim to spend no more than 30 minutes on this section.
2 The pre-Mughal and Mughal period (c700-1784)

(a) Identify the Mughal emperor who imprisoned Sheikh Ahmad Sirhindi in 1619.

L] | A Aurangzeb
L1 | B Babur
L]

C Humayan

L1 | D Jehangir

(b) State two religious reforms introduced by Akbar.
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(c) Explain why Aurangzeb’s death in 1707 created problems for the Mughals.
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(d) "Winning the Battle of Plassey was the main reason why the British had control of

large areas of India by 1784! S Sk
TS ek

Discuss how far you agree with this statement. §\\ A
SO kS

( . b 2 @
You may use the following in your answer: e Sl
2% E;ﬁ}é\

+  British military victories e
- British diplomacy 5 S
_|§ & =

You must also use information of your own. ) ?\%ﬁ& §f§,ﬁ\’
:::Q §/ )
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If you answer Question 3 put a cross in the box [] .
You should aim to spend no more than 30 minutes on this section.
3 British expansion and rule (c1783-1898)

(a) Identify the British Governor-General who introduced the Doctrine of Lapse
in 1852.

(1)

Cornwallis

Dalhousie

0o
O N |w | >

Lytton

] Minto

(b) State two measures introduced by Shah Wali Ullah to improve the lives of the
Muslims.
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(c) Explain why British military actions led to the War of Independence in 1857.
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(d) ‘Sir Syed Ahmad Khan'’s greatest contribution to the Muslim community was
restoring relations with the British!

Yo

Discuss how far you agree with this statement.

4 )
You may use the following in your answer:

5

5

5

«  '‘The Loyal Mohammedans of India’
+ the Mohammedan Anglo-Oriental School.
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You must also use information of your own.
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If you answer Question 4 put a cross in the box [] .
You should aim to spend no more than 30 minutes on this section.
4 The growth of political awareness and British reform (1883-c1927)

(a) Identify the head of the committee set up in 1919 to investigate the
Amritsar Massacre.

(1)

Hunter

Montagu

(R

Morley

L]
O N |w | >

Rowlatt

(b) State two results of the Lucknow Pact (1916).
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(c) Explain why many Indians were dissatisfied with the Montagu-Chelmsford
Reforms (1919).

(6)
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(d) ‘Gandhi’s decision to call off his civil disobedience campaign was the main reason
for the failure of the Khilafat Movement!

>( 2

5

Discuss how far you agree with this statement.

3

22

4 )
You may use the following in your answer:

R
XOC

« the Chauri-Chauri incident (1922)
. Kemal Attaturk.

You must also use information of your own.
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SECTION C
Answer ONE question from this section.
Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box $¢ and then mark your new answer with a cross [X.

— If you answer Question 5 put a cross in the box [ .
You should aim to spend no more than 30 minutes on this section.
5 Consolidating the new nation (1971-2013)
(a) Identify the President of Pakistan who resigned in December 1971 as a result of
the disagreement with East Pakistan.

—— L1 | A Asif Ali Zardari
—— [J | B Ghulam Ishaq Khan
— [J | € General Zia-ul-Haq
— [] | D YahyaKhan

(b) State two measures introduced by Nawaz Sharif in his first ministry (1990-1993)
to improve Pakistan’s economy.
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(c) Explain why Benazir Bhutto was elected as Prime Minister in 1993.
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(d) ‘Establishing a new constitution was Zulfikar Ali Bhutto's greatest success.

Discuss how far you agree with this statement.

4 )
You may use the following in your answer:

« the 1973 Constitution
« nationalisation of industry.

kYou must also use information of your own.
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If you answer Question 6 put a cross in the box [] .
You should aim to spend no more than 30 minutes on this section.
6 Pakistan’s role in world affairs (1947-1999)

(a) Identify the country that helped finance and build the Karakoram Highway.
(1)

Britain

China

0o
O N |w | >

Soviet Union

L] USA

(b) State two ways in which the USA showed a friendlier approach to Pakistan in the
years 1993-1996.
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(c) Explain why the Kargil Conflict (1999) created problems for Nawaz Sharif.
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(d) ‘Pakistan’s relations with the Soviet Union were not successful in the years
1947-1989!

>§/ X

Discuss how far you agree with this statement.
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You may use the following in your answer:

XX

+  Soviet economic aid
« the Soviet invasion of Afghanistan.
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You must also use information of your own.
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(Total for Question 6 = 25 marks)

TOTAL FOR SECTION C =25 MARKS
TOTAL FOR QUESTION PAPER =75 MARKS
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